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[ Belovv is a graph of F ( )= 33: —ig3, Then f'(z) = 3 —3z% By makmg a, s1gn chart for
f'(z), find all local minima and ma,xuna All Work must be shown; use the graph for
ver1ﬁcat1on only. ‘ WL
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2 Usmg the same functlon as above, find all mﬂect;lon pomts by maklng a 81gn cha.rt for
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8. Suppose a population of bactena is modeled by P(t) = 800060 oL At What rate is the
populatlon 1ncreasmg at 4 hours7
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" 6. We see from the graph' of y = In(z) that this function is increasing on its domain.
Shovv this using calculus.
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